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Note :– This paper is of Seventy (70) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA



K–9 36 ( 2 )

Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Explain clearly the concept of Logarithmic and Partial

differentiation. Explain their use in economic theory

with examples.

y?kqxq.kdh; vkSj vkaf'kd vodyu dh vo/kkj.kk dks Li"V :i

ls le>kb,A vk£Fkd fl¼kUr esa buds mi;ksx dks mnkgj.k lfgr

le>kb,A

2. What do you understand by Input-Output analysis ?

Describe its importance and limitations in economic

analysis.

^vkxr&fuxZr fo'ys"k.k* ls vki D;k le>rs gSa \ vk£Fkd

fo'ys"k.k esa blds egRo vkSj lhekvksa dk o.kZu dhft,A
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3. What do you understand by ‘Linear programming’ ?

Describe its importance and limitations in economic

analysis.

^js[kh; izksxzkfeax* ls vki D;k le>rs gSa \ vk£Fkd fo'ys"k.k esa

blds egRo vkSj lhekvksa dk o.kZu dhft,A

4. Discuss the need and importance of Diagrammatic

presentation of Data in Statistics.

lkaf[;dh esa fp=ksa }kjk vk¡dM+ksa ds izn'kZu dh vko';drk vkSj

egRo dks Li"V dhft,A

5. What are the desirable properties of an average ? Explain

the relationship between Mean, Median and Mode in a

symmetrical and moderately asymmetrical distribution.

,d ek/; esa dkSu&dkSuls xq.k gksus pkfg, \ ,d lefer rFkk

vkSlru vlefer caVu esa ek/;] ekf/;dk vkSj cgqyd ds e/;

lEcU/kksa dks Li"V dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What do you understand by ‘Variable’ ?

^pj* ls vki D;k le>rs gSa \

2. If A = 
5 3

12 8

 
 
 

 and B = 
 
 
 

12 4

2 5 , then find BA.

;fn A = 
5 3

12 8

 
 
 

 and B = 
 
 
 

12 4

2 5 , rc BA Kkr dhft,A

3. Find out both regression equations from the following

data :

Series of Series of Coefficient of

X  Y coccelation

Arithmetic mean 50 120 between X

Standard deviation 16 4 and y = +0.80

Coefficient of correlation between X and Y = +0.80

fuEufyf[kr vk¡dM+ksa ls nksuksa izrhixeu lehdj.k Kkr dhft, %

X dh Js.kh Y dh Js.kh X vkSj Y ds

lekUrj ek/; 50 120 chp lglaca/k dk

izeki fopyu 16 4 xq.kkd = +0.80
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4. From the point of view of sampling theory, write the

different types of frequency distribution.

izfrp;u fl¼kUr dh n`f"V ls fofHkUu izdkj ds vko`fÙk forj.k

fyf[k,A

5. What do you understand by Skewness ? How do you

check this ?

fo"kerk ls vki D;k le>rs gSa \ bldh tk¡p fdl izdkj ls

djrs gSa \

6. What is meant by Secular Trend in an economic time

series ?

vk£Fkd dky Js.kh esa nh?kZdkyhu mifur@izo`fÙk dk D;k vFkZ

gS \

7. If the variance and mean (X) of a series are 146.21 and

30 respectively then calculate coefficient of variance.

;fn fdlh Ük`a[kyk dk izlj.k vkSj ek/; (X) Øe'k% 146.21

vkSj 30 gS] rks izlj.k xq.kkad dh x.kuk dhft,A

8. Write a short note on Fisher's Ideal index number.

fQ'kj ds vkn'kZ lwpdkad ij ,d laf{kIr fVIi.kh fyf[k,A

**************


